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gd'gf k|Zg (Model question) 

ljifo M lj1fg tyf k|ljlw (Science and Technology) 

sIff M (                                                           k"0ff{ª\s M &% 

 

;d"x -s_  (Group A)                            ;do (Time): 25 Minutes. 

ax'j}slNks k|Zgx¿ (Multiple Choice Question - MCQs) 

tnsf k|Zgsf] ;xL pQ/df uf]nf] lrx\g -O) nufpg'xf];\ .                            !)  ! = !) 

(Circle the correct answer to the following questions) 

1. hLjx¿sf] z/L/sf] efu s'xfP/ vfgf k|fKt ug]{ o'Sofl/of]l6s hLj s'g hut\df k5{g\ < Eukaryotic 

organisms that obtain food by decomposing the body parts of organisms belong to 

which kingdom??  

A. Plgdlnof -animalia) 

B. kmGhfO -fungi) 

C. df]g]/f -monera) 

D. k|f]l6:6f -protista) 

2. lbOPsf] lrqaf6 j|md ljsf;sf] k|df0f ;DaGwdf d'Votof s'g 

hfgsf/L k|fKt ug{ ;lsG5 < Which information about 

evidence of organic evolution can be obtained from given 

picture?  

A. NffvfF} jif{ klxn] pTklQ ePsf ;hLjsf] hfgsf/L lng -take 

information about organism originated millions of 

years ago) 

B. cl:tTjdf /x]sf hLjx¿sf] cfo' lgw{f/0f ug{ -determine 

the age of existing organism)           

C. hLjx¿sf] ;dfgtf / leGgtf kQf nufpg  -find 

similarities and differences between organism) 

D. km/s ;d"xsf k'vf{sf] hgfsf/L lng  -get information about ancestors of different groups) 

3. olb Pp6f la?jfaf6 ;a} hfOnd lgsflnof] eg] Tof] la?jfdf s:tf] c;/ b]vf k5{ < If all the xylem 

tissues are removed from a plant, what effects will be seen in that plants?    
A. kfgL / vlghsf] k|jfx / oflGqs zlStsf] sdLn] ubf{ la?jf sdhf]/ x'G5 . -Lack of water 

supply and mineral and less mechanical strength make plants weak.) 

B. vfgfsf] sd k|jfx / oflGqs zlStsf] sdLn] ubf{ la?jf nrsbf/ x'G5 . -Lack of food supply 

and less mechanical strength make plants feeble.) 



C. kfgL / vlghsf] l56f] k|jfx tyf nrsbf/ gx'gsf sf/0fn] la?jf alnof] x'G5 . (Fast supply of 

water and mineral and more rigidity make plants strong.) 

D. vlgh / xl/ts0fsf] w]/} k|jfx ePsfn] / w]/} nrsbf/ ePsfn] la?jf kx]Fnf] x'G5 . -More 

supply of minerals and chlorophyll and more flexibility make plants yellowish) 

4. ljB't\ lx6/sf] SjfOn s'g kbfy{af6 agfOG5 < Which substance is commonly used in heating 

coil of electric heater?  

A. gfOj|mf]d -nichrome_ 

B. 6ª\u:6]g -tungesten_           

C. cflNdlgod -aluminium_ 

D. tfdf -copper_ 

5. Psn crn l3gL{sf af/]df s'g egfO ;xL 5 < 

Which of the following statement is correct about single fixed pulley?  

A. ult cg'kft 1 x'G5 . -Velocity ratio is one.) 

B. oflGqs kmfObfsf] dfg PseGbf a9L x'G5 . -Mechanical advantage is greater than one.) 

C. 8f]/Lsf] b'O{ v08n] nf]8 yfd]sf] x'G5 . -Load is supported by two rope segment.) 

D. nf]8n] kf/ ug]{ b'/LeGbf Okmf]6{n] kf/ ug]{ b'/L bf]Aa/ x'G5 . -Distance moved by load is twice 

of the distance moved by effort.) 

6. lrqdf b]vfOPsf] :yfgfGt/0f ;do u|fkm cWoog u/L clGtd 50 s df x'g] ult 

slt x'G5 < Study the given displacement-time graph to find the 

velocity in last 50 s motion.  

A.  0.4 m/s     

B.  2.5 m/s 

C.  - 0.4 m/s     

D.  - 2.5 m/s 

7. ;~rf/ e"pku|xnfO{ s'g sIfdf k|If]k0f ul/G5 < In which orbit the communication satellites are 

launched from the earth?  

A. e":yfoL sIf -geostationary orbit_  

B. lgDg k[YjL sIf -low earth orbit_  

C. dWod k[YjL sIf -medium earth orbit_  

D. lhof]l;Gj|mf]g; sIf -geosynchronous orbit_ 



8. lgDg c0f'x¿sf]lardf aGg] af]G8sf] k|s[ltsf cfwf/df s'gsf] pDng] tfkj|md ;a}eGbf a9L x'G5 < 

On the basis of the nature of the bond formed in the following molecule, which of the 

molecules has a high boiling point?  

A. H2   

B. Cl2 

C. HCl 

D. MgCl2 

9. /utdf s'g wft'sf] sdLsf] sf/0f 5f]6f] b'/L lxF8\bf klg ysfg nfU5 < Due to lack of which metal 

in the blood, even walking a short distance causes fatigue?  

A. Potassium 

B. Iron  

C. Sodium 

D. Calcium 

10. tnsf dWo] s'g /f;folgs k|ltlj|mofn] sfa{gsf] l/8\o'l;ª u'0fnfO{ hgfpF5 < Which of the 

following could show reducing nature of carbon?  

A. sfa{gaf6 sfaf{O8 aGg' (formation of carbide from carbon) 

B. sfa{gaf6 sfa{g 8fOcS;fO8 aGg' (formation of carbon dioxide from carbon 

C. sfa{gaf6 sfa{g df]gf]cS;fO8 aGg' (formation of carbon monoxide from carbon) 

D. sfa{gsf] pkl:yltdf k]ml/s cS;fO8af6 kmnfd aGg' (formation of iron from ferric oxide in 

presence of carbon 
 

  



;d"x -v_ (Group B) 

tnsf k|Zgsf] clt 5f]6f] pQ/ n]Vg'xf];\ M                           (  ! = ( 

1.  j}1flgs l;sfO lsg dxŒjk"0f{ dflGfG5 <  Why scientific learning is important ?   

2. Ogl;{of eg]sf] s] xf] < What is  inertia ?  

3. OG6/g]6sf] s'g} Pp6f dxŒj n]Vg'xf];\ . Write an importance of  internet.   

4. lrqdf ljB't\ r'DasLo j0f{k6 -electromagnetic spectrum_ sf v08x¿nfO{ km/skm/s :yfgdf 

cfj[lQsf] j|md lauf/]/ /flvPsf] 5 . tL v08x¿nfO{ s'g j|mddf ldnfpFbf cfj[lQdf cfwfl/t Ps 

;/nLs[t ljB't\ r'DasLo j0f{k6 aG5 < 

There are different sections of an electromagnetic spectrum shown the given figure with 

zigzag order of frequency. In which order the given sections should be arranged to give a 

simplified electromagnetic spectrum based on frequency?  

5. u|fx{:y ljB'tLs/0fdf k|of]u x'g] Go'6«n tf/ dxŒjk"0f{ dflgG5, lsg < Neutral wire in domestic 

wiring is important, why?  

6. k|of]uzfnfdf xfO8«f]hg UofF; tof/ kfbf{ k|of]u x'g] /;fogx¿sf] gfd n]Vg'xf];\ . Write the name of 

chemicals used in laboratory preparation of hydrogen gas.  

7. tnsf] tflnsfdf s]xL UofF;x?sf] af/]df hfgsf/L lbOPsf] 5 . The below table presents some 

information about some gases.  

k|of]uzfnfdf UofF; pTkfbg ljlw 

(laboratory preparation of a gas) 
UofF;sf] k/LIf0f ljlw (testing method of the gas) 

A. cNsfnL wft'sf] Snf]/]6nfO{ ttfP/ (by 

heating chlorate of alkali metal) 
1. aln/x]sf] ;nfO{sf] sfF6L UofF;hf/sf] d'vdf n}hfFbf 

ækkÆ cfjfh cfpF5 . (When a burning match stick 

is brought in contact with the gas, it gives a 

‘pop’ sound. 

B. lhª\s wft'nfO{ lkmSsf cDn;Fu k|ltlj|mof 

u/fP/ (By reacting zinc metal with 

dilute acid) 

2. aln/x]sf] DofUg]l;od l/agnfO{ UofF;hf/leq 3';fpFbf 

s]xLa]/df kx]Fnf] /ªsf] w'nf] aG5 . (When a burning 

magnesium is inserted into the gas jar, a yellow 

powder is formed after sometime) 

o;sf cfwf/df klxnf] sf]nddf pTkfbg ePsf] UofF;sf] k/LIf0f bf];|f] sf]nddf n]lvPsf] s'g ljlwaf6 ug{ 

;lsG5 < Based on this, the gas produced in the first column can be tested by which method 

written in the second column ?  

 

 

A 

 

B 

 

C 

 

D 

 

E 



8. la?jfsf] tLj| j[l4sf nflu Na3PO4  eGbf (NH2)2CO sf] k|of]u ug]{ ul/G5, lsg < Why is the 

use of (NH2)2CO preferred over Na3PO4 for the rapid growth of the plant?  

9. lrqdf b]vfOPsf] ;~rf/ k|ljlwsf] k|of]usf j|mddf b'/;~rf/sf] sfo{ l;4fGt -

6«fG;ld6/ Rofgnl/l;e/_ s;/L nfu' ePsf] 5 < How is the principle 

of telecommunication (transmitterchannelreceiver) applied while 

using the communication technology shown in the given figure?  

 

 

;d"x -u_ (Group C) 

tnsf k|Zgsf] 5f]6f] pQ/ n]Vg'xf];\ M                          !$  @ = @* 

10. (a) 0.0000025 nfO{ j}1flgs ;ª\s]tgdf n]Vg'xf];\ . Write 0.0000025 in scientific notation.  

(b) 10 cm nfO{ lsnf]ld6/df kl/jt{g ug'{xf];\ . Convert 10 cm into kilometer. 

11.  df]g]/fsf] s'g} b'O{ ljz]iftfx¿ n]Vg'xf];\ . Write any two characteristics of Monera.  

12. /ftf] /ªsf] kfOn; ePsf] ls/f gnfu]sf] Rofp /  ;]tf] t/ jl/kl/af6 sldnfn] 3]/]sf] Rofp dWo] s'g 

Rofp vfg pko'St x'G5 :ki6 kfg'{xf];\ . Explain which mushroom is suitable for eating between 

the mushroom with red pilus and the mushroom without worms and the white mushroom 

surrounded by ants.   

13. xf]df]nf]u; / Pgfnf]u; cª\ux¿ lar b'O{cf]6f leGgtf n]Vg'xf];\ . Write any two differences 

between homologous and analogous organs.     

14. l;l/zfn] Pp6f la?jfnfO{ e'mKk agfpg To; la?jfsf] 6'Kkf] efFlrlbOg\ . jg:klt tGt';DaGwL a'emfOsf 

cfwf/df o;/L e'mKk agfpg] sfo{ s;/L ;Dej ePsf] xf]nf JofVof ug'{xf];\ . Sirisha pluck out the 

tip of a plant to make it bushy. Based on understanding of plant tissue, explain how will it 

grow bushy?      

15. Knfl:6l;6L eg]sf] s] xf] < o;sf] Pp6f pkof]lutf n]Vg'xf];\ . What is plasticity? Write one 

application of plasticity.  

16. OG6/g]6 ;'ljwf ePsf] tkfFOsf] sDKo'6/sf] 8]:s6kdf ePsf] Pp6f letter gfdsf] kmfOn ;fyLsf] email 

df s;/L k7fpg' x'G5 < cfjZos ;a} r/0fx¿ n]Vg'xf];\ .   

How do you send a file named "letter" from your desktop connected to the internet to 

your friend? write all necessary steps.   

17. tf/fsf] hLjgrj|msf r/0fx¿ b]vfpg] ˆnf]rf6{ tof/ kfg'{xf];\ . Make a flow chart to show different 

steps in lifecycle of stars. 



18. PlDKnRo'8 df]8'n];g -AM_ / lk|mSj]G;L df]8\o'n];g - FM_ lar b'O{cf]6f leGgtfx¿ n]Vg'xf];\ . Write 

two differences between amplitude modulation (AM) and frequency modulation (FM). 

19. ;fdfGot 6]a'n 6]lg; ansf] lk08 2.7 g / ng 6]lg; ansf] lk08 56 g x'G5 . 6]an 6]lg; Aof6eGbf 

ng 6]lg; ¥ofs]6 nfdf] x'G5 . ansf] lk08 / pSt an lxsf{pg k|of]u x'g] Aof6÷¥ofs]6sf] ;fOhlarsf] 

;DaGwnfO{ Ogl;{ofsf] lgodsf cfwf/df JofVof ug'{xf];\ . Generally, mass of a table tennis ball is 

2.7 g and that of lawn tennis ball is 56 g. The lawn tennis racket is longer than table tennis 

bat. Explain the relation between mass of ball and the size of corresponding bat/racket on 

the basis of the law of inertia. 

20. Pp6f l:nª\sL -Slinky_ sf] k|of]uaf6 nª\luRo'l8gn t/ª\u s;/L pTkGg u/fpg ;lsG5 < How can 

a longitudinal wave be produced by using a slinky?    

21. tflnsfdf lbOPsf] tŒj / /]l8snaf6 aGg] s'g} Ps of}lussf] cf0fljs 

;"q n]Vg'xf];\ . pSt c0f'sf] cf0fljs ef/;d]t u0fgf ug'{xf];\ . Write 

molecular formula of any two compounds formed by the 

element and the radical given in the table.  Calculate the molecular mass of anyone of the 

compound.  

22. xfO8«f]hg, gfO6«f]hg / clS;hg tŒjx? dWo] s'g} b'O{ tŒjsf] ;+of]hgaf6 aGg] of}lusn] cf]hf]g txnfO{ 

ljgf; u5{ . pSt of}lus aGg] / ;f] of}lusn] cf]hf]g txnfO{ ljgf; ug]{ k|lj|mofsf] ;Gt'lnt /f;folgs 

;dLs/0f n]Vg'xf];\ . Ozone layer depleting compound is formed by the combination of any 

two elements among Hydrogen, Nitrogen, and Oxygen. Write the balanced chemical 

equations for the process of forming the compound and depletion of ozone layer caused by 

the compound.  

23. kf/df0fljs ;ª\Vof 19 ePsf] tŒjsf] Snf]/]6 nj0fnfO{ DofGuflgh 8fO{cS;fO8;Fu ttfpFbf s'g UofF; 

aG5 . which gas is produced whenchlorate of an element having atomic number 19 is 

heated with manganese dioxide ?  

i. o;/L ag]sf] UofF; / Un'sf]hlar cfjZos cj:yfdf x'g] /f;folgs k|ltlj|mofsf] ;Gt'lnt /f;folgs 

;dLs/0f n]Vg'xf];\ . Write the balanced chemical equation when the gas thus obtained 

reacts with glucose under the required conditions. 

ii. pSt  UofF;nfO{ r'g kfgLdf k7fpFbf s] x'G5 < What would happen when the gas is passed 

into a vessel containing lime water?  

 

 

 

 

tTj 

Element 
/]l8sn 

Radical  

Mg OH- 

K CO3
-- 

 



;d"x -3_ (Group D) 

tnsf k|Zgx¿sf] nfdf] pQ/ n]Vg'xf];\ .                            &  $ = @* 

24. hGt' tGt'sf k|d'v rf/ k|sf/sf] Ps Ps cf]6f sfo{ n]Vg'xf];\ . Write one function of each of the 

four major types of animal tissues.  

25. ;Fu}sf] lrq A / B df kfl/l:ylts 

k|0ffnLdf x'g] zlSt k|zf/0f b]vfOPsf] 

5 . Energy transfer in an 

ecosystem is shown in the 

alongside figure A and B.  

 

i. zlSt k|zf/0fsf cfwf/df lrq 

A / B lar s'g} Pp6f leGgtf 

n]Vg'xf];\ . Write a difference between figure A and B in terms of energy transfer                      

1 mark 

ii. olb lrq B sf] kfl/l:ylts k|0ffnLdf v/fof] / d';fsf] ;ª\Vof ck|Tofl;t ¿kdf a9\of] eg] pSt 

kfl/l:ylts k|0ffnLdf s] c;/ b]lvG5 < What effect will be seen in the ecosystem if the 

number of rabbits and rats are suddenly increased in the ecosystem shown in figure 

B ?   1 mark 

iii. lrq B df /x]sf] d';fsf] 6«lkms n]en JofVof ug'{xf];\ . Explain the trophic level of rat in 

figure B.   2 mark 

26. -s_ b'O{cf]6f ;dfg cj/f]w ePsf aNax?nfO{ 6 V sf] Aofl6«;Fu s'g k|sf/n] h8fg ubf{ clwstd 

rlDsnf] k|sfz kfpg ;lsG5 < pSt h8fg b]vfpg] ljB't\ kl/kysf] lrq sf]g'{xf];\ . How can be 

connected the given two bulbs of identical resistance with a battery 

of 6V to glow them with maximum brightness? Draw circuit diagram 

showing that connection.  

-v_ lrqdf b]vfOPsf] ljB't\ kl/kydf h8fg ul/Psf b'O{cf]6f cj/f]w dWo] 8 Ω  

cj/f]w ePsf] cj/f]wssf b'O{ 5]plarsf] kf]6]lG;on km/s lx;fa ug'{xf];\ . Find the potential 

difference across two terminals of 8 Ω resistor connected as shown in the given diagram.   

27. PS; /] / cN6«f;fpG8sf] k|of]un] Dffgj cª\u r]shfFr s;/L ;xh ePsf] 5 < PsPs pbfx/0f;lxt 

JofVof ug{'xf];\ . How the use of X-ray and Ultrasound has made it easier for human organ 

diagnosis? Explain with an example of each.   

 



28. g]kfnsf] k|fs[lts ;|f]tsf ;DaGwdf lbOPsf tYofª\s cWoog u/L tnsf k|Zgsf] pQ/ lbg'xf];\ . Study 

the given data regarding natural resources of Nepal and answer the following questions.  

ef}uf]lns ¿kdf g]kfn nueu 28o
 pQ/L cIff+zdf cjl:yt 5 . oxfF jif{df ;/b/ 300 lbgeGbf a9L 

;do ;"o{sf] rlDsnf] 3fd nfUg] u5{ . To:t} g]kfnsf] nueu 44 % e"efu jghª\unn] 9fs]sf] 5 . 

oxfFsf nueu 66 % dflg; s[lif k];fdf cfwfl/t 5g\ . Geographically, Nepal is located at 

about 28o Northern latitude. There are about 300 sun shine days in a year. Nepal has 

almost 44 % of the land occupied by forest. About 66 % of people in Nepal are involved 

in agriculture.  

 

-s_ g]kfnsf nflu pko'St x'g] s'g} b'O{ j}slNks pmhf{sf ;|f]tx¿ ;'emfj lbg'xf];\ . Suggest any two 

alternative sources of energy appropriate for Nepal. 

-v_ tkfOF{sf] ;'emfj sfof{Gjog of]Uo 5g\ eGg] s'/f s;/L k'li6 ug'{x'G5 < How can you justify that 

your suggestions are applicable?  

  

29. lbOPsf] lrqsf] cWoog u/L ;f]lwPsf k|Zgsf] pQ/ lbg'xf];\ . 

a. lrqdf wft'sf] k/df0f' ;+/rgf b]vfOPsf] 5, s;/L < In the 

given figure, atomic structurer of a metal is shown, 

how? 

b. pSt k/df0f'sf] ;+o'Hotf 1 x'G5, lsg < The valency of 

that element is 1, why?  

c. pSt k/df0f'n] On]S6«f]g lnP/ jf lbP/ s;/L /f;folgs 

k|ltlj|mof u5{ < How does the atom take part in 

chemical reaction; by gaining or losing the electron? 

d. pSt k/df0f'n] Snf]l/g;Fu /f;folgs k|ltlj|mof ubf{ aGg] c0f'sf] gfd n]Vg'xf];\ . Write the name 

of molecule formed by reacting it with chlorine. 

30. Ps ls;fgn] cfˆgf] v]tdf nfdf] ;dob]lv wfg v]tL dfq u/] / o'l/of dn dfq k|of]u u/] t/ j;]{gL 

pTkfbg sd x'Fb} uof] . pSt ls;fgnfO{ cfˆgf] pTkfbg a9fpg s'g} rf/ ;'emfj lbg'xf];\ . A farmer 

has been cultivating only paddy in his field for a long time and continuously using urea. 

But the production has been decreasing every year. Give him any four suggestions for 

better production.  

 

 


